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e This paper is divided iyto two Sections.

* Antempr all questions from Section Qand any four questions from Section B.

Grade : 10 Subject : Computer Application Marks:
Date : 10/01/2015 Time: 2 hrs
e Youwill not be allowed to write during the first 15 minutes.
*. This time is to be spent in reading the question paper. 3
* The time given at the head of thls paper is the time alloveed for writing the answers.
*  This paper consists of 4 prinied pages
S

SECTION — A (40 Marks)

Question 1.
_A. Which of the following are valid comments?

/*comment*/ - "
/¥comment L-
//comment ~~

*/comment*/

-~

.

2. Operators with higher precedence are evaluated before operators with relatively lower

precedence. Arrange the operators given below in order of higher precedence

&&
%o
s
++ .
. Cconvinal  pyRa¥ yekun
A./ Name two jump statements and their use.

é}./ Name the keyword that:

1. is used for allocating memory to an array = A~ €«

- i bl
1. causes the control to transfer back to the method call Y e+

N o onvryg, <tass

//lee one example each of a primitive data type and a composite data type.

Question II.

A( Give a difference between constructor and method.

2—State the difference between token and identifier.
Lep e k€

/( Explain any two types of access specifier. pao'fl , {°

4/ What is an infinite loop? Write an infinite loop statement.

[2]

(2]
(2]

(2]

[2]
(2]
(2]
(2]

- Computer Applicationn/Grade 10,7 CSE/Preliminary exam/ Page 1 of 4 CAA/SRP20I4-15
- f



5 State the purpose and return (ata type of the following String functions:
i. indexOf() s N4t
1.  compareTo( ) &* Qoolean

Duestion 1.
7 State the output of the following progra.m segment: . [2]
String strl = “great”; String str a dninds”;
System.out.printin(strl. substrmg(() 4 concat(strZ substrmg(l)),,
System.out.printin((“WH”+(str1.substring(2).toUpperCase( )))); BT
2. Whart will the‘ following functions return when executed? (2]
¥©  Mathanax(-17, -19) -3
it”  Math.ceil(7.8) & .o
A, State one difference between the iloating point literals ﬂ_?at and double. [2]
§ 47 Write a Java expression for ut + Y% ft’ O*FE 4 \/p R pRp*yg * [2]
5~ Convert the following segment into equivalent for loop: [2]
g seg
int 1; 1=0; * ~
while(i<=20) _ FO¥ ( tro; (&m0 Tad
{ k -
Systemaout.print(i+" "); \
i++;
\ )
}/”I‘“ array[] = {1,9,8,5,2}; i o . i [2]
i.  What is array length? S
iil.  What is array[2]? 4 -
Z-Rewrite the following program segment using if-else statements instead of the temary
operator,- s c*‘:mu i DR
String grade=(mark>=90) ? “A” : (mark>=80) ? “B”, : “C"; i ,‘,':i;. 8= [2]
& > s \, &0 )/
2 9 e D)

8 /’What will be the output when the following code segments are executed? !

/1/ String s = “1001”;
S int x = Integer.valueOf(s); 3
G B { double y = Double.valueOf(s);
System.out.println(“x=" +x); >

System.out.println(“y="+y); Z:.e [2].
il.  System.out.println(*“The king said \”Begin at the beginning!\” to me”); [1]
9. Give the output of the following method: - [3]

public static void main(String[] args)

J
¥

inta=35;
at+; - 7S

System.out.println(a);/ =

Rt Rl L 2 (8 - €03
System.out.println(a); z~-v ©- 6 - 4
at+=++a; -t ol
System.out.println(a); + -

}
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SECTION — B (60 Marks)
Attempt any four questions from this Section.
The answers in this Sectior should consist of the Programs in either Blue J
environment or any program environment with Java as the base.
Each program should be written using Variable description/Mnemonic Codes

so that the logic of the program is clearly depicted.
- Flow-Charts and Algcrithms and outputs are not required.

Questigh IV:

Define a class called Fruitduice with the following description: [15]

[nstance variables/data members: ;

int product_code — stores the product code number

String flavour — stores the flavor of the juice.(orange, apple, dier,
String pack type — stores the type of packaging (tetra-pack, bottle etc)
int pack size — stores package size (200ml, 400ml etc) i
int product_price — stores the price of the product

Member Methods: - "
FriuitJuice() — default constructor to initialize integer data members to zero and string data

(154}

members to :
void input() — to input and store the product code, flavor, pack type, pack size and product

price.
void discount() — to avail 10% discount on the product price . -

void display() — to display the product code, flavor, pack type, pack size and product price.

Question V:
Write a program to input and sort the weight of ten people. Sort and display them in
descending order using the selection sort technique. [15] .

Question VI:

Write a program to accept a string. Convert the string to uppercase. Count and output the
number of double letter sequences that exist in the string.

Sample Input: “SHE WAS FEEDING THE LITTLE RABBIT WITH AN APPLE”
Sample Output: 4 . . e,

[15] g E 3 e ¥

e 2 R :
t s ; U |
OuestjAII: % & ¢ 3 '

Write a program to generate a triangle or an inverted triangle till n terms based upon the
user’s choice of triangle to be displayed. Display error message for incorrect option. [15]

Example 1: Example 2:

Input: Type 1 for a triangle and Input: Type 1 for a triangle and
type 2 for an inverted triangle " type 2 for an inverted triangle

1 2

Enter the number of terms Enter the number of terms

3 ; 3

Output: Output:

1 - 333
22 22 h
335 1
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Qu esti,m{/VIII:
Fa

e
Is

sign a class to overload a function series() as follows:

double series(double n) with one double argument and returns the sum of the series.
sum = 1/11+ 1/21 + 1/31 + ..... 1/n! YW ‘

double series(double a, double n) with two double arguments and returns the sum of the
series.

sum = 1/a% + 4/a°> + 7/a® + 10/a'' ..... to n terms - [15]
i +~ .
’:"mc;;vtj()ﬁ IX:
rd

R .
A special two-digit number is such that when the sum of its digits is added to the product of
its digits, the result is equal to the original two-digit number.

Example: Consider the number 59. ! #
Sum of digits =5 +9= 14

Product of its digits =5 x 9 =45

Sum of the sum of digits and product of digits = 14 +45 = 59

Write a program to accept a two-digit number. Add the sum of its digits to the prosiuct ofits
digits. If the value is equal to the number input, output the message “Special 2-digit
number” otherwise, output the message “Not a special 2-digit number”. [15]

s s sk ok ol e ok sk o ok ok sk S e s ok ol sk ke sk ke ok ek iR Ok R oROR T END***"‘"‘*"‘"‘********************

4080





http://www.exam18.com/package/icse-prelim-papers-2016/?utm_source=samplepaperpdf&utm_medium=blog&utm_content=icsesamplepaper&utm_campaign=Exam18
http://www.exam18.com/
http://www.exam18.com/package/icse-prelim-papers-2016/?utm_source=samplepaperpdf&utm_medium=blog&utm_content=icsesamplepaper&utm_campaign=Exam18

